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QUESTION 1

What is a main benefit of a Thin Client?

A. Access to unauthorized web sites can be locked.

B. Access to web applications can easily be restricted.
C. Users can log in from a n y location.

D. Users cannot install unauthorized or risky software.

Correct Answer: D

QUESTION 2

What is a benefit of virtual client operating systems in protection against virus infections?

A. A virus infection in one operating system will not infect the other operating systems.

B. One virus scanner on a client operating system will protect all other operating systems.

C. The client operating systems are virtual and cannot be infected from outside.

D. The client operating systems can be protected by the virus scanner of the host operating system.

Correct Answer: A

QUESTION 3

What is an example of the implementation of federation?
A. driver\\'s license

B. fingerprint

C. information card

D. iris scan

Correct Answer: C

QUESTION 4
What is not a security measure associated with the Single Sign On (SSO) principle?
A. Active directory authentication

B. Security token
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C. SOAP protocol
D. Smart card

Correct Answer: C

QUESTION 5

How can a move to Cloud Computing reduce capital expenditure?

A. It can reduce the number of applications in use within the enterprise.

B. It can reduce the number of IT staff in the datacenter.

C. It needs less client computers to access the enterprise applications in the Cloud.

D. It pays for the use of hardware, not for the value of the hardware at the time of purchase.

Correct Answer: D
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